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—( Example 1 )

A spring has an unstretched length of 10 ecm. When it is hung with a load of 80 g
attached, the stretch length is 28 cm. Assuming that the extension of the spring is
proportional to the load,
(i) draw a graph of extension E against load L.
(Put load L on the horizontal axis.)
(ii) find the equation of the line you have drawn in terms of L and E.
(iii) wuse your graph to find the load required to extend the spring to a length of
20 cm.
This particular spring passes its elastic limit when it is stretched to four times its
original length. (This means that if it is stretched more than that it will not return to
its original length.)

(iv) Find the load which would cause this to happen.
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